QTY |uom DESCRIPTION
10 EA_{Ballast, HP Sodium for 50W Lamp
1 EA_|Starter, Halophane, #EC-2898 (DNR)
47 EA |Starter, Halophane, #EC-3125 (DNR)
3 EA |Ballast for Exit Light, 277V Robertson (Disc)
5 EA |Ballast, 120V for One 30w/40w T12 Tube (DNR)
28 EA_|Ballast, 120V Dimming for Two F40T12 (DNR)
20 EA_|Ballast, 120v for One FC8T9/One FC12T10 (DNR)
48 EA _|Ballast, 118v for One 22w Circline (DNR)
48 EA |Ballast, 120v for One FC8T9/0One FCBT9 (DNR)
40 EA |Ballast, 120v for One 20w/22w Circline (DNR)
40 EA [Ballast, 120v for One 22w/32w Circline (DNR)
4 EA _[Wall Piate, Metal 2-Gang, Blank (DNR)
10 EA [Wall Plate, Metal 2-Gang, Toggle (DNR)
4 EA |Wall Plate, 3-Gang, 3-Toggle
3 EA [Wall Plate, 2-Gang, Ground Fault Receptacle
10 EA [Wall Piate, 2-Gang, Blank
6 EA_{Wali Plate, 2-Gang, 1-Ground Fault/1-Duplex Receptacle
27 EA [Wall Plate, Metal 2-Gang, 1-Duplex/1-Blank (DNR)
45 EA |Wall Plate, Metal 2-Gang, 1-Single/1-Blank (DNR)
7 EA |Wall Plate, Metal 2-Gang, 1-Toggle/1-Blank (DNR)
19 EA |Cover, F-S Box, 1-Gang Toggle (DNR)
60 EA [Cover, F-S Box, 1-Gang Single Recep (DNR)
14 EA |Cover, Handy Box, 1-Gang Single Recep (DNR)
25 EA _|Cover Exposed, Raised 1/2" Sqr 4" Tog & Dup (DNR)
30 EA_[Cover Exposed, Raised 1/2" Sqr 4" 2-Tog (DNR)
40 EA_|Cover, Raised 1/4" Sgr 4-11/16" 2-Gang (DNR)
43 EA [Cover, Raised 1/4" Sgr 4" 2-Gang (DNR)
18 EA |Box, Masonary, Single Gang, 3-3/4"x2"x7-1/2" (DNR)
75 EA_[Box, Masonary, Single Gang, 3-3/4"x2"x3-1/2" (DNR)
58 EA_|Box, Switch, 3"x2"x2" (DNR)
36 EA {Box, Switch, 3"x2"x2" w/Clamps
22 EA_{Box, Handy, 4"x2-1/8"x1-1/2" w/1/2" (DNR)
99 EA _|Box, Handy, 4"x2-1/8"x1-7/8" (DNR)
41 EA _|Box, Handy, 4"x2-1/8"x2-1/8" w/3/4" KO's
15 EA_]Extension Ring 4-11/16" Sqr Box (DNR)
100 EA _|Box, Square, 4-11/16"x1-1/2"
35 EA |Extension Ring 3-1/2" Octagon Box (DNR)
400 EA |Box, Octagon, 4"x1-1/2"
150 EA_|Box, Octagon, 4"x2-1/8"
100 EA |Extension Ring 4" Octagon Box w/1/2" KO's (DNR)
46 EA |Box, Octagon, 3-1/2"x1-1/2" (DNR
27 EA_|Bulb, Fiuorescent, # 30712, Rapid Starn
1cs&23ea | CS Bulb, Fluorescent, #F30T8, 24/cs
137 EA |Bulb, Fluorescent, #F25T12, 25W
4 EA [Bulb, Fluorescent, #-40BL-U-3, Bk Light
g EA_[Bulb, Fluorescent #EA0CWITR —— - —————
1 RL {Wire, Eitco 14/4, 250'roll
6 RL_|Cord, Service, Type SJTO 18/2, 2507rol
16 EA |EMT Elbow, 45 Deg, 2 1/2"
25 EA_|EMT Elbow, S0 Deg, 2 1/2"
1 EA |EMT Elbow, 90 Deg, 3"
6 RL _|Fiexible Steel Conduit, 3/4", 50'roli
5 EA [EMT Fitting, Set Screw Connector, 2 1/2°
1 EA [IRP Ballast ASM
2 RL _|Armored Cable, 12/2, 2507roll
2 RL _|Armored Cable, 12/3, 250 roll
14 EA -[Bulb, Fluorescent, F15T12/cw




Strap-EMT, One-Hole, 2"

Speaker Cover

Compound, Pulling, Pint Can

Switch, Toggle, 2-Sin le Pole

Conduit Bushings, 1.1/4", 25/bx

Connector, EMT Offset, Set Screw 1 12", 50/bx

Connector, EMT Socks, 3/4"

Bushing, Insul, Threaded, 3-1/2" Flame

Bushing, Insul, Threaded, 3-1/2"

)
ﬁwaggmmnmwm/

Bushing, Insul, Threaded, 1"

i bl o T

38 Bushing, Insul, Threaded, 1-1/2"
50 Bushing. Reducing,'1" to 3/4"
100 Bushing, Reducing, 1" to 172"
500 Bushing, Insui, Threaded, 3/4" Flame
19 Condulet-LB, Compression, 1/2"
29 Condulet-L B, Set Screw, 1/2" Appleton ,
, 7 Condulet-LB, Set Screw, 172" Grouse Hinds ]
6 Condulet-LB, Threaded, 1/2" Appleton ]
16 Condulet-LB, Threaded, 1/2" Crouse Hinds ]
14 Condulet-L B, Compression, 3/4"
30 Condulet-LB, Set Screw, 3/4" Appleton
20 Condulet-LB, Threaded, 3/4™ Crouse Hinds
4 EA Condulet-LB, Threaded, 1" Crouse Hinds
2 EA Condulet-LB, Threaded, 1-172" Crouse Hinds
20 EA |Condulet-LL, Set Screw, 1/2" Appleton
15 EA |Condulet-LL, Threaded, 1/2" Crouse Hinds
30 EA Condulet-LL, Set Screw, 3/4" Appleton
10 EA Condulet-LL, Set Screw, 3/4" Crouse Hinds
15 EA _|Condulet-LL, Threaded, 3/4" Crouse Hinds |
L2 EA [Condulet-LL, Threaded, 1" Crouse Hinds |
[ 3 EA_|[Condulet Cover, Appleton, Screw Type 2" ]
5 EA |Condulet Cover, Crouse Hinds, Clip-on 1-1/2" o
22 EA |Condulet Cover, Crouse Hinds, Clip Type 1"
4 EA [Condulet Cover, Crouse Hinds, Screw Type 1/2"
129 EA_Condulet Cover, Crouse Hinds, Clip Type 3/4"
47 EA [Condulet Cover, Crouse Hinds, Clip-on 1/2"
73 EA [Condulet Cover, Appleton, Screw Type 1/2"
46 EA |Condulet-LR, Set Screw, 1/2" Appleton
11 EA [Condulet-LR, Threaded, 1/2" Crouse Hinds
9 EA Condulet-LRL, Set Screw, 1/2" Killark
.5 EA [Condulet-LR, Set Screw, 3/4" Crouse Hinds
l 10 EA_|Condulet-LR, Set Screw, 3/4" Appleton
15 EA_|[Condulet-LR, Threaded; 3/4" Crouse Hinds T
10 EA Condulet-LRL, Set Screw, 3/4" Killark
4 EA Condulet-LR, Threaded, 1* Crouse Hinds
2 EA Condulet-LR, Set Screw, 1" Efcoriet
15 EA_|Condulet-Tee, Compression, 1/27 Crouse hinds
14 EA Condulet-Tee, Threaded, 172* Crouse Hinds
— 15 EA Condulet-Tee, Threaded, 3/4* Crouse Hinds
— 2% EE:: (C::ondulet$’l'ee,~set~saaw:w3/4"~muan(~~ ----------------- I
, ondulet-Tee, Compression. 3/4" Crouse hinds
QTY uomM DESCRIPTION ( TYPE/MODEL/OTHER INFO
10 EA_|Conduit LB, 2'1/2", Set Screw Type Killark TWOLB-7
42 EA_[Wall Plate, Single Gang, Single Receptacle, Color: Ivory Leviton (Grainger #5C250) I

1 EA_|Wall Plate, Single Gang, Duplex Receptacie, Color: Ivory Leviton (Grainger #5C277)

1 EA_{[Wall Plate, Dual Gang, Rectangle Receptade, Color- Ivory Leviton ]
|10 EA_|Insulating Bushing, Plastic, 2 1/2" Arlington Cat. No. 446 |
— L p— |Wiremoid-Internat-Etbow—Color-Buff— ———_Wiremold#517—————]|

IR A AT A P L



3 BX_|Connector, Armored Cable, 1/2", 50/bx (DNR)

4 BX |Connector, Rigid, 3/4" Compression,25/bx (DNR)
11 BX |Connector, EMT, Set Screw, 1", 20/bx (DNR)
130 EA_|Connector, EMT, Set Screw, 1-1/4" (DNR)
Sbx&dea | BX |Connector, EMT, Set Screw, 1-1/2", 10/bx (DNR)
12 BX |Coupling, EMT Set Screw, 3/4", 25/bx
231 EA_|Coupling, EMT Set Screw, 1" (DNR)
72 EA [Coupling, EMT Set Screw, 1-1/4" (DNR)
61 EA |Coupling, EMT Set Screw, 1-1/2" (DNR)
1 BX |Connector, Armored Cable, 3/8" 90 Deg, 50/bx (DNR)
11 BX [Connector, Armared Cable, 3/4" 90 Deg, 10/bx (DNR)
1 BX_|Connector, Armored Cable, 1" 90 Deg, 5/bx (DNR)
3 BX [Connector, EMT Offset, Set Screw 3/4", 25/bx (DNR)
2 EA_|Grounding Clamp, 1/2" & 3/4" Pipe
7 EA |Conduit Nipple, 1 1/2"
3 EA |Connector, Compression, 2"
5 BX |Washer, Reducing, 1" To 1/2", 100/bx

4bx&84ea| BX |Washer, Reducing, 1" To 3/4", 100/bx

176 ea BX |Washer, Reducing, 3/4" To 1/2", 200/bx

1000 EA |Conduit Locknut 3/8"
412 EA |Conduit Locknut 3/4"
53 EA |Conduit Locknut 1 1/4"
123 EA |Conduit Locknut 1"
23 EA [Conduit Locknut 2"
7 EA |Conduit Locknut 3 1/2"
4 BX _|Knockout Seal, 1 1/4", 50/box
3 BX |Knockout Seal, 1", 50/box
1 BX jKnockout Seal, 3/4", 100/bx
3 EA [Smoke Detector, Photo-Elec #2098-9201
8 EA [Smoke Detector Base, Simplex #2098-9211
3 EA . |Smoke Detector, lonization Type

1bx&45ea| BX |Strap-Rigid, Two-Hole, 1/2", 50/bx

2bx & 64 ea| BX |Strap-EMT, Two-Hole, 3/4", 200/bx

1bx&56ea| BX |Strap-Rigid, Two-Hole, 3/4", 200/bx

67 EA |[Strap-EMT, Two-Hole, 1"
1 BX [Strap-EMT, One-Hole, 1", 50/bx
45 EA |Strap-Rigid, One-Hole, 1"
2 BX |Strap-Rigid, Two-Hole, 1", 100/bx
4 BX |Strap-Rigid, One-Hole, 1 1/4", 25/bx
30 EA [Strap-EMT, One-Hole, 1 1/2"

|1 BX iStrap-Rigid, One-Hole, 1 1/2", 50/bx

10 EA [Smoke Detector Cover Kit

17 BX [Wiremold #517, Intemnal Elbow, 10/bx
24 BX [Wiremold #518, External Elbow, 10/bx
1 BX [Wiremold #5781A Box Connector, 20/bx

1bx&5ea BX {Wiremold #2010B Blank End, 10/bx

1bx&B8ea | BX [Wiremold #2017TC Corner Internal Coupling, 10/bx

3 BX [Wiremold #1517A Adapt Fittin ing, 5/bx
27 EA |Wiremold #1546B Duplex Receptacle Box
5 BX |Wiremold #1511 90 Deg Flat Elbow, 5/bx

5bx&3ea BX |Wiremold #1517 Internal Elbow, 5/bx

6bx&74ea | BX |Wiremold #5701 Coupling, 100/bx

9 EA |Wiremold Raceway #1500, 10'L

2 SET |Wiremold Raceway #20GB12, 6'L, 8/set

5 EA |Wiremold #5751-2 Flush Extension Adapter, Buff
3 EA |Wiremold #5734 Blank Extension Box, Buff

20 EA _|Wiremold #711 90 Deg Flat Elbow, Buff

20 EA [Wiremold #5736 Blank Cover, Buff

5 EA |Wiremold #5737A Extension Bax Open Base, Buff
67 EA |Wiremold #5738A Fixture Box, Buff

22 EA [Wiremold #5739A, Buff

2 EA |Wiremold #5747-3 Box, Shallow, Buff

5 EA [Wiremold #5719D Comer Box, Buff

14 EA [Wiremold #5738 Fixture Box, Solid Base, Buff

1 EA |Wiremold #5751 Flush Extension Adapter, Buff

4 EA [Wiremold #5744-3 Extra Deep Switch & Recep Box, Buff
17 EA [Wiremold #5737 Extension Box Open Base, Buff
89 EA Wu’emold #v5738 Fixture Box Soltd Base lvo




